1. HBFEOBRR

(1) BE#% I 1 8 3
HHSFI12HRKABE (B A)
T8 | =8 | A& |29E | 205 poAs #E | #E |s#ME| =8
280 259 1 2 7 7 8 21 9 204
BH RBR K EN
(2) fF i 5l F 8 3 SHSE12ARBRAE (Hfi: A)
5 | 18~20|21~25|26~30| 31~35| 36~40| 41~45| 46~50 | 51~55 | 564K LI L | E iR
259 0 0 7 5 27 48 46 31 95 51.1
(3) ERE LRI E &
i SM5F12AKBRE (BA: A)
259 29 50 49 38 20 19 54
H RREER XA
(4) BB iE#
SHSFEI2ERAREE M :HF)
H B B B =E 1
N B8 oA R Y T 0
BBEENREBARYTS 17
BF Kk K# (40t kL £) 132
£ = H K2 (100mmEL k) 66
i F = JE K42 (100mmEL L) 176

BH BRI KX A

2. KEDFEERK

(BG4, A.mi, TH)
. o = WSEFE riin o
FR ([HAEH|BEAR Prym e =7 | zom GHEEE BESE

FHMTE 7 13 4 1 0 2 449 31,730
S22 3 5 2 0 1 0 15 5913
FMIFE 6 9 5 0 1 0 198 5,976
S 2 0 1 0 0 1 48 222
SM5E 4 21 4 0 0 0 617 45823

BH RERM K EMENEBF8RINEBRE

93



